CIS 3362 Quiz #5 – Number Theory, RSA

Date: 10/23/2009

Name: ________________________________

Directions: Show your work and put a box around your final answer.
1) (7 pts) What is the prime factorization of 19432?

2) (8 pts) What is φ(1584)?

3) (7 pts) What is the remainder when 1790 is divided by 89? (Hint: Use Fermat’s Theorem.)

4) (8 pts) What is the remainder when 727 is divided by 90? (Hint: Use Euler’s Theorem.)

5) (10 pts) In an RSA scheme, p = 11, q = 17 and e = 27. What is d?

6) (7 pts) Given RSA public keys n = 221 and e = 5, what is the result of encrypting the message M = 109?
7) (3 pts) What is the primary fruit used to make pumpkin pie? ___________________________
